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1. Choose -the &oftect statement from the P e i E PN aasy — o
following statcr_r,ignts - . FoE-1 AFE S9EE Rera, aeaE
Statement-I Human resource developmentis ) ) i

a part of human resource L R T P ST E |
management. & 11 AFEAE SR Y&, {6
Statement-II H ti i f .
men uman resource management is : _ —

a part of human resource el
development.

(1) Statement I is correct Ay e Iﬂﬁ %

(2) Statement II is correct (2) FoT OHA 2

(3) Statement I is wrong 3 E'm_‘ 1TerT & )

(4) Both the statements are correct @) =W P w9 g

2. Revolution in agricuitural in India is known IRT A PN B &3 A | Hia PN A
as - ofi?

(1) White Revolution 1) Iuq wifa
(2) Red Revolution 2) e Bifa
(3) Blue Revolution @) el wify
{4) Green Revolution @ eRa iRy

3. Which of the following factors is not included fr=feRaa ¥ 9 P9 Tc® SUHITT ATER
in the economic factor affecting consumer DI TG R arenl INi® UeE | Wi
behaviour? TE 87

(1) Personal Income (1) < 3
(2) Personality (2) <R

(3) Liquid Assets (3) A aHRY
(4) Family Income @) uRdGRG I

4. The methods and techniques of Marketing oo ergEaE @ R R Tede

Research are - g —
(1) Survey (1) wdeqor
(2) Observation 2) EeeT
(3) In-depth Interviews (3) TET GEEPR
(4) All of these @) SR e
5. When did the President give assent to the IRy 7 SywIaaT GxET AR, 2019 B
Consumer Protection Act, 20197 Wpid $9 UM BI?
(1) 9 August, 2019 (1) 93r=, 2019
(2) 9 October, 2019 (2) 9 3IaEEn, 2019
(3) 7 September, 2019 3) 7 RIT=R, 2019
(4) 7 November, 2019 4) 7R, 2019
05- Page 2 of 32
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6.  Educational Psychology is definitely branch of 6.
" = Psychology which prominently helps the cause
Of coviiiiiiiians i
(1) Teaching and Motivation -*
(2) Personality and Learning
(3) Teaching and Learning
(4) Motivation and Personality ¢ '
7.  Which of the following model guicfed teachers 7.
to go to the depth of the contént?
(1) Inquiry model
(2) Concept attainment model
(3) Advance organizer model

(4) Interaction analysis model

8. Pradhan Mantri Awas Yojana Gramin 8.
(PMAYG) was launched in which of following
year?

) 2015

(2) 2016
3) 2017 '
4) 2018

9. The causes of resistance to change, based on 9.
the emotions, tendencies and expectations of
the people are called -
(1) Economic causes
(2) Technical causes
(3) Psychological causes

(4) Social causes

10. Rural Connectivity Project for Left Wing 10.

Extremism Areas (RCPLWEA) was launched
in which of following year?

1) 2016

(2) 2018

3 2014

4) 2015

Aide Ffae FdEa v 8§ Fifas
I8 AR B, W oL D BRI e

4) RN iR =i

= #  BF ar giaar Rre o sy —
TR B TSI B AR AR BT 27
(1) Yoare gfeEE

2) =R vor afkme

3 R — =gwen wfmm

@) el fagemer afoms

FEHAT 3T LISE] TTHOT
(floavaEsh) o &= § 9 faaw of ug
i

(1) 2015

2 2016

(3) 2017

4 2018

el B WA, Fgiral v gl W
AR 59 IReadT &1 wfeker giar €, 9

@) e srRor

Q) BB BRI

(3) TAREIND BRI

4) RIS BRI
wige {4 veafetien &=t & form uwlior wuss
gRasFT (RCPLWEA) e 3§ & frg o
TN Y TE?

(1) 2016

(2) 2018

3) 2014

@ 2015
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“11. Which special zone has been established for  11.

export promotions?
(1) Special Protected Zone (SPZ)
(2) Special Reservéd Zone (SRZ)
(3) Special Restricted Zone (SRZ)
(4) Special Economic Zone (SEZ)

12. Which of the following is not included in the 12.

unorganized.capital market?
(1) Money Lenders
(2) Indigenous Banker
(3) Debenture Holders
(4) Sarrafs

H

13. Main areas of Educational P Psychology 13.

includes —
(A) Society N
(B) Learner 4
(C) Learning process
(D) Learning situation

1) A,BandC
(2) A,BandD
(3) B,CandD
4 A,CandD

14. A, B and C are partners in a firm. If A 14,

withdraws T 3000 at the time of beginning of
each month. What will be the interest on
drawing charge to A at the end of year? If rate
is 12% per annum - '

1) 2160

(2) 3360

3) T1980

4y 2340 ¥

15. An amount set-aside to meet known liability is  15.

known as -
(1) General Reserve
(2) Revenue Reserve b
(3) Provision -

(4) Secret Reserve
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frafal 1 AicaEd & @ ol 19 W faEw
&3 TR AT 87

@) R w=eor &=

2 fEm R ax

3) fom ufdERe a=

@ Ry nfdis &=

frfofeg § ¥ @9 srfod goll TR o
A TE 57

(1) IR

@) = dex

(3) FUTH URG

@ W%

Ao TWREE & wE &3 § wfEkn
F_

(A) G

(B) IRFM % 91l

(C) SIRFF o wishar

(D) @it @ Rerfa

(1) A,BsiRC

2y A,B3IRD

3) B,C3RD

@ A, C3RD

W HI AT @ g d I EER §1 ¥
3000% ufHE & URT ¥ S7ENYy BRar §, af
@ oid ¥ T & e R A fHar S aer
1ol fore B AfE 12% @ifde =Imet <=
g‘f_

1 2160%

2 360%

(3) 1980%

@ 2340%

‘o @i @ o @ R Ter ¥ el
IR FedE! & —

(1) I I

(2) SIFH 99

(3) A

@ IO I
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What was the initial problem noticed, when the  16.
New Economic Policy started in 19917

(1) Poor performance of public sector
(2) High tax rate

(3) Foreign money crisis

(4) Control on private sector

Debit note and credit note are - 17.

(1) source documents

(2) subsidiary documents

(3) secondary documents

(4) vouchers
Which of the following is an illustration of 18.
sunk cost?

(1) Interest on capital

(2) Production cost excluding Direct
material cost

(3) Expenses on erection of an machinery

(4) Cost of Building, Plant & Machinery

1991 % =¥ anidje Ny o goara @ @

A SN T @y of?

(1) 9ESE &85 BT G §Eee

2 SR

(3) fadeh gu1 Joe

@) T em ) A

S B fagl 9 9 P R € -

D) A -

(2) HERIE THI-VorE

() fFius vy

@ vEvIS

=ifeT # ¥ B9 9 999 AR &7 @

JEIER 37

(1) o W =

(2) SWET FFTT UUe AR SN B
Tl T8l A §¢

(3) A B SRl e R @@

@) g, < 9 998 @ ang

19. The birth of Functional Organization is 19. halAs T84 & o= $T 99 =T wam
attributed to - F-
(I) Allen (W e e
(2) F.W. Taylor @ THI, TR i
(3) Henri Fayol @ T B
(4) Peter F. Drucker @) dex UB. F

20. “The basis of International Trade is 20. “dFEr ¥ oA N BT SIS
comparative difference in costs.” R $T JEN° Fas gamm 82
This definition was given by -
(1) Ricardo @) Reret
@) I1.S.Mil @ wivE
(3) Taussig @) iR
(4) Haberler @ TEwR
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21. Purchasing Power Parity Theory was given 21. ¥ wfdq @aar Rigia form femm e’
by -
(1) Ohlin M el
(2) Adam Smith @ T R
(3) Gustav Cassel 3 T=g Caic]
() Harold @ =S
22. The method in which computer assess 22. 98 Y f79d SR OEl & AR — AR
performance of students as well as students can BTAT @ eI B Ahbar Hal §, 9/ 8
give instructions to computer is - FI BT e ¢ W © —
(1) Dill @ f
(2) Tutorial 2) R wrEs
(3) Simulation (3) SIEUP
(4) Co-operative Learning @ FEATES AR
23. The present value of cash inflows of a project  23. T& IR ¥ AHS IATdE BT 9aH = Jod
¥30000 and initial investment I 18000. 3000032 Td wRfe R 180003 E |
Calculate Profitability Index. AMEIEAl Gadis w1d DI |
@ 1.67 A 167
2) 246 (2) 246
3 320 @3) 320
@ 125 @) 125
24. India is a developing country due to which 24. ¥RTUH s sefaaenr ¢ w9 4 f&a
following characteristics? &I | 9S9MET Wil 27
(1) Five year planning system (1) Ygadig ARl B HR
(2) Per capita increase in food (2) Rl SR BT ST 9§ E
consumption g ,
(3) Decrease in economic backwardness ) gﬂ 1 S e o4 &
(4) Per capita real income is increasing @) wiafl awis or 98 W8 &
25. Committed fixed cost does not includes - 25. TE-ag ReR @Gl # e T8l § —
(1) Discretionary fixed cost 1) e Rer are
(2) Sunk costs @ T=a RING
(3) Unavoidable costs () U@ I TE SRS
(4) Depreciation @) -
05- 3k Page 6 of 32
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26.

27.

28.

‘Who first used the word ‘Entrepreneur’? 26.

1) IS.Mill

(2) Richard Cantillon
(3) F.H. Knight

4) Joseph Schumpeter

What do we call the movement of the 27.

economics of the world towards unrestricted
cross border movements of goods and services,
capital and the labour forces?

(1) International Trade

(2) Liberalized Economy

3) ) Globalization

@)+ All of the above

What do we ciall-the rate at which 'the Reserve  28.

Bank of India lends money tp commercial
banks?

(1) Reporate

(2) Reverse repo rate

(3) Cash reserve ratio

(4) Statutory liquidity ratio

FEAl TR BT YA qaueH e afdm =
T ar?

(1) wivw A

2 =R dfeem

(3 TBTE. AREe

@) S geiiex

W 9R SMEIEl B WRE g @
sRfegaverell & gHIT ®I &9 T BEd &7

1) IFRIST @R

(2) ISRiGa spiee

3 eI

@) SR a9

IR Red & o = w® aiftiae I
Pl I IR QT B, SH X B BEd & —

1) O

2 Rad ==

(3) TTPhY A& U™
@) GuNe AR ST

29. Which of the following is a feature of nominal 29. [=fiReg § 9§ ®I9 W TFHEE & 9ECER
partner? ; o fagmar &7
(1) Contribute in capital - @) s e &
(2) Participate in management (2) uS # 45T o §
(3) Generally share-profits/losses (3)  AHTIR SR /B0 A e g
(4) Unlimited Lability @) fﬂﬂ'ﬁﬁ <R BT @

30. “Unemploymentmay be defined as theidleness 30. “SRioWI S9 Flqadi @1 Flpaar 9
of persons able and willing fo work.” Who URMI™T & 773 8, S R $ & AN U
provided the above definition? gD T SWRIad gRymT s & &7

(1) De Mello ' @ 2 deh

(2) Keynes 2 o9

(3) P. Sargent Florence 3) W Iei< TN

(4) None of the above @ SR F Y Pig T
05- % Page 7 of 32
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31.

32.

33.

34.

35.

Whose area is wider in Business, Commerce,
Trade and Industry?

(1) Business

(2) Industry

(3) Commerce

(4) Trade

Deferred Revenue expgﬁ‘diture is/are shown in
........................... till final adjustment.
(1) Trading Account
(2) Manufacturing Account
(3) Profit & Loss Account
(4) Profit and Loss Account and Balance
Sheet

How many minimum number of members are
required for registration of a co-operative
society?

1 Two

(2) Ten

(3) Twenty

(4) Seven
Which of the following is not a method of
estimating working capital requirements?

(1) Forecasting Net Current Assets

Method

(2) Projected Balance Sheet Method

(3) Stochastic or Miller-Orr Model

(4) Operating Cycle Method
Which function is not included in physical
distribution?

(1) Storage

(2) Transportation

(3) Inventory management

(4) Market research

31.

32.

33.

34,

35.

GET IT ON
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T, TSy, AR T Ser ¥ B
&3 TqD 87

(1) =TI '

2 s

(3) =iy

@) =R

JfeaH TN 6 AR e g

fopere wewl o araegdar 87

(1 =

() Td

@ @9

4) wq

f=ifpg 4 @ M @R gol
FATaTIHarR P IAFAN o Pi Ry T2 87
1) Y& 71 TRy QErgE R

(2) v fRrgr Al

@) woRes ar ek gkmHE
@ uRames =% R

Aifge Raxer § daar s @At =&
87

1) HSRU
) uReged
(@) zFa<d wEy
@) IR SR
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'36. In which method of demand forecasting, we 36. HiTT Jaizr & b fAfY & wwa Y e

assume the time is a independent variable and TR TR 99T A1 3] NPT TR O S 4T
demand quantity is a dependent variable? FT Wﬁ ST Wﬂ%-‘?/*’/
(1) Trend Project Method (1) SuIRy wEwor fafey
(2) Modern Econometric Method (2) s sriftda fafr
(3) Graphical Method &) ICINCERCIT)
(4) Economic Indicators Method “) R dadie Ay
37. Which of the following institution is authorised 37,  Fraifta % ¥ 1T W1 T 2iBe R A9
for framing Standards for Auditing (SAs) in (SAs) 55T & forg it &2
India?
(1) Institute of Cost Accountants of India (1) RG FT AN I AR
; (2) Institute of Chartered Accountants of @) - (e189) ;
India .
TR
(3) Institute of Company Secretaries of .
. (3) WRT DT BN GRG G
India
(4) Institute of Chartered Financial @) R B 9T (@) Ry
Analyst of India favems e
38. Eachindividual has a ‘self —image’. Itdoesnot 38, URI® ARFT & Tk A — BA° il &
include - Tod e 8 8

(1) < M — gReT
(2) ST ATH — RO

(1) Expected self — concept ;
(2) Ideal self — concept’

(3) Actual self — concept (3) TIID I — gROW
(4) Abrupt self — concept (4) TSUH ARH — gROT
39. “Measures of the location or position of a 39. “f&l gy RaRor @t Refa o1 v & A
frequency distribution are called average.” This TG PEAN B TE U fFEd @
27

«definition was given by -
1) HigqeT g PHrSeT
(1) Croxton and Cowden A o o

(2) Simpson and Kafka (2) Taa wd S

(3) Yule and Kendall 3 I d dred

4 A.E.Wah 4 T g as

05- 3k Page 9 of 32
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40. During 2020-21 insurance premium paid 40. ¥ 2020-21 % SR 20,0003 & 4 Nifgw
¥20,000 (including premium of ¥ 12,000 per 37 A A (12,000 % ufad @1 < @
annum paid upto 30® September 2021). What 30 fyceR 2021 T @ i1 MR BT MiE
will be the adjustment entry necessary as on Y g9) | 31 I 2021 BF @ O G
31* March 20217 AAEF TAEeHA dfaie qaEy —
4 4 4 4
(1) Prepaid Insurance (1) Prepaid Insurance
Premium Alc Dr. | 6,000 Premium Alc Dr. | 6,000
To Insurance To Insurance ,
Premium A/c 6,000 Premium A/c 6,000
(2) Insurance Premium Alc (2) Insurance premium Alc :
Dr. | 20,000 Dr, | 20,000
To Bank Alc 20,000 To Bank A/c ’ 20,000
(3) Insurance Premium Afc (3) Insurance Premium A/c |
Dr. 6,000 Dr. 6,000 |.
To Prepaid Insurance To Prepaid Insurance
Premium Afc 6,000 Premium Alc 6,000
(4) Prepaid Insurance ‘ + t{4) Prepaid Insurance ,
Premium A/c Dr. | 12,000 Premium A/c  Dr 12,000
To Insurance Premium To Insurance Pre;Iﬁum ’ ;
Alc | 12,000 Ale 12,000
41. A credit sales of T200 has been credited to  41. 2003 SR fRsHa & g Pwy @ w
Sales Afc and also to Sundry Debtors Alc. R SeR @ B 9@ BRe B & )
Which of the following is the correct e 3 ¥ Bl O R ufafe el
rectification entry? | !‘ 4 z
4 3
(1) Sales A/cDr 400
(1) Sales A/c Dr 400 s
To Suspense Alc 400
To Suspense Alc 400
(2) Sundry Debtors Alc Dr 400 (2) Sundry Debtors A/c-Dr- 400
To Suspense Alc 400 TEISyspgise Afe- 400
() Suspense A/c Dr 400 (3) Suspense A/c Dr 400
To Sundry Debtors 400 To Sundry Debtors’ 400
(4) Sundry Debtors AfcDr 400 ‘ (4) Sundry Debtors A/cDr 400
To Sales Alc 400 To Sales Alc 400
42. 'Which is social factor of Economic Growth? 42. i@ afg &1 GHIfois 9 B |q-E?
(1) Caste System (1) <afcr =ra<en
(2) Inflation 2) s ™R
(3) Cost (3 <A
(4) Price @) @Eg “
05- % Page 10 of 32
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\43; Every promise and every set of promises, 43. UJd 999 TN 99+ &I YA® g o
N, forming the consideration for each other is ..... 9T £P ?‘:ﬁ% G LTI —
Y el T |
(1) Contract £)) SEY
(3) Agreement (3) oEE
(4) Acceptance @ gl
44. The Board of Directors of a joint stock 44. U Wgaad Yol HTW & Meud HId @l
company is elected by — 94 8 —
(1) General public (1) o ST
(2) Employees (2) HHERI
(3) Shareholders (3) Ty
4) Government bodies @ e Fem
45.  Self — awareness, self —regulation, motivation, 45, ¥ — W&, W — A, WO, WERRT
empathy and social skills are the basic aﬁ_\’ LI CgC IR S — 9f& & 7ot TP
i components of .......... intelligence. gl
, (1) Concrete intelligence @) = gﬁ&r
(2) Fluid intelligence (2) W ghE
(3) Abstract intelligence Q) 3"3\6 gﬁ‘g’
(4) Emotional intelligence @ SIGIRED gﬁa’
46. Constructivism view of learning concept was 46. 3IfEFF & FFRAFMEE AR BT FAHH
first of all proposed by ........... .~~~ . Y SaR|
(1) Dewey and Piaget 1) S SR =
(2) Green and Gradler ) W &R Jser
(3) Piaget and Gradler (3 I ek dsor
4) Dewey and Green @) I IR A=
47. HDI stands for - 47. TASLAE. T T 9 & —
(1) Human Development Institute (1) e faPrE wer
(2) Human Development Interest (2) g faswr @
(3) Human Development India (3) i fae arRa
(4) Human Development Index @) a9 9PN FEaHie
05- 3 Page 11 of 32
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48. “Cash from investing activities” does tot 48. “Rfer fburi & Jws warE” 4 ﬂﬁ7
includes - T8 & — ,
(1) Payment of loans and advances to (1) RN EHRI Bl UGG 53 T =T
third party T i
(2) Loans and advances from financial @) frda deneli 9 B T w9
institutions
(3) Payment made for purchasing fixed .
assets @) TR S : %g g
(4) Cash received from sale of intangible @ g wEREl & ey § Oes
assets wifeTat
49. There are 5 black and 3 white ballsin abucket, 49. TP IRDC 4 5 FIell 9 3 9BE dicl 81 al
two balls are drawn one by one with dicl U — U B g0 I 8T TH
replacement, then it is the illustration of - el TS, d1 98 o SerRNY & —
(1) Independent event (1) SFEIBE "
(2) Compound event () T3 =er
(3) Dependent event (3) i3 =T
(4) Mutually exclusive event (@) URER IS T
50. Secret reserve may not be created by - 50. YW W el IR0 S el g -
(1) undervaluation of stock 1) wiF o W 0 DD
(2) rent received credited to Building A/c ) W R qa @R o NS
(3) amount spent on addition to assets (3) TRy ¥ Eﬂ%’ & wF 9 TE R
charged to Profit & Loss Account T8I @ ¥ are] B
(4) an amount set aside to replace the @) guRy & gﬁ'@)‘lﬂ? % forg EF‘I?F\[ ¥
assets in the books T IRT T
51. Which of these is not an advertising objective? 51. = ¥ I @19 &1 9504 F1 92w & &7
(1) To increase sales M) fma Eﬁ;’ il
(2) To introduce new products 2 = mﬁ@’ﬁ Eal U DRI
(3) To decrease demand in market @) IR AT H G BT
(4) To develop new market @ o VIR BT AN
05- % Page 12 of 32
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Which one of the following is criteria for taking ~ 52.

decision under Internal Rate of Réturn (IRR)

method?

(1) IfIRR is equal to the cost of capital
.(2)° IfIRR is greater than the cost (;f capital

(3) IfTRR isless than the cost of capital

R 4 b2

(4) None of the above

= 4§ 59 wugvs & ded araRe
T &% (IRR) Ay # Foly foR o &7
(1) @ J=IRF TEE I3 (IRR) ol
oivid (Cost of Capital) P AR T
(2) ; 99 AIRF Y™ &% (IRR) st
@RI (Cost of capital) & 31fS&F &
(3 v IwiRF W™ X (IRR) o
T (Cost of Capital) I w8
@) ST § 9§ P T8

53. What is the Financial Tarisdiction of the 53. e MmO &1 fixi &=N¥oR T 87
District Commission? ; <
(1) Upto 1 Crore M 1335 TF
(2) Upto 10 Crore, @) 1093 a6
(3) Upto 5 Crore @ s !
(4) Upto 10 Lakh . ) IOW %

54. If three independent activities, occurs 54. 3IT I9 Wy TN Yp Grd gedl &
simultaneously [PagBac)], what will be [Paspo], T wifrpar 2R
probability for that? , :

(1) Pu xPr) XxPe 1) Py X Py X Po)
(2) Pw+Pr +Po (2) Pw+Pr +Po
() Pw-Pe-Po W+ ) Pa-Pe -Po
@ Pans o 4@ Panenoy

55. Fill in the blanks — ol 55. Reaa wmi o1 it o —

2020-21 2021-22 Absolute Percentage 2020-21 2021:22 Absolute Percentage
. e ? 16,00,000 - 7 (20)
Revenue ? 16,00,000 ? 200 (Revenue) |
(1) < 22,00,000 ;% (6,00,00) (1) - 22,00,000.;X (6,00,00)
2 T (4,00,000) ; % 20,00,000 (2) < (4,00,000) ; ¥ 20,00,000
(3) 20,00,000 ;% (4,00,000) (3 T20,00,000 ;% (4,00,000)
(4) T14,00,000;% (2,00,000) ) T14,00,000 ;% (2,00,000)
56. When was ‘SEBF established? 56. SEBI & YIIG %9 ga?
M 199 ) 1 1990
(2) 1988 (2) 1988
@) 1989 " 3 1989
4) 1982 @) 1982
05- 3 Page 13 of 32
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57. Trial Balance may be useful - 57. Teve ARG B 9l © —
(1) to locate errors of commission (1) RaE ddeh sngfeal o1 T
(2) to ascertain arithmetical acciracy of @ forg
2) @il 981 @ MY ggar i
the ledger accounts (
g _ o e @ forg 7[
(3) to locate errors of Principles 3) fugia e G‘TW FT AT ”cﬁ"]ﬁ
(4) to locate compensating errors % forg
b, (@) U STgfEEl & uar e B ﬁm
58. Which of the following is/are called Direct 58. fifpa # ¥ oF ¥ yE U B
expenses? - &7
(1) Cost of special moulds @) Ry €= & ara
(2) Patent and Royaity for a specific cost (2) TS P aFG 568 B (HE g
unit ARBR Yob
(3) Cost of improvemént of defective J
product () [ SR B GAR A A .
(@) Al of these . @ T
59. Who controls the organized Capital Marketin 59, R« # §ieq ol oy &1 P Frifa
India? HCT 87
(1) Reserve Bank of India (RBI) (1) Red § sffe 2Rmm
(2) SEBI (2) I
(3) Both of RBI and SEBI @) Rud ¥ sife SR s Wl I
(4) Central Government @) ST TWER
60. Which bank was established in 1982 forexport  60. /=1 # P17 &1 §F 1982 ¥ wnfia gamw
promotion and import loans? frafg dicareT 7 Sl & o T <ar 87
(1) World Bank O e d®
(2) Merchant Bank @) T 9B
(3) Asian Development Bank 3) PRrm e CE7
(4) EXIM Bank @ <ideH 96
6l. ..c.ccoeevvrrererenedevelopment is related with 61, ... P gRon, Seu, a@ 3NN T
perception, jmagination, reasoning and TR S R 2
problem solving. AR
(1) Social (;) .
(2) Emotional @) Fiaf
(3) Cognitive @) S
(4) Physical @ i
62. Horizontal Analysis is a - 62. &fw faveo v T
(1) Time Series Analysis 1) Hrel Sl e
(2) Static Analysis 2 ifts Qg
(3) Comparison of statement of one period ) UF @A & FRer $ e
(4) Inter-firm Analysis @) saHH o
05- 3k Page 14 of 32
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(1) Cash-in-hand
(2) Preference shares matured after one
year
(3) Shares of unlisted companies
(\4 Money 'market deposits for very short
\ period

grab objects and puts them in her mouth to
explore and study it. According to Jean Piaget,
this is the -

(1) Stage of formal operation

(2) Preoperational stage

(3) Sensory motor stage

(4) Stage of concrete operation

expression for which of following?
(1) Mean deviation :
(2) Standard deviation
(3) Quartile deviation
(4) None of the above

¥

be written-off to zero?
(1) Diminishing-Balance Method
(2) Equal Installment Method
(3) Annuity Méthod

+

i M
{4) Revaluation Mgthod ‘

is -

63. “Cash Equivalents” includes - 63.

64. 11 Months old khushi attempts to identify and  64.

65. The coefficient of variation is a percentage 65.

66. In which method of depreciation, asset cannot  66.

67. A Principle of M;anagement' given by Taylor 67.

"Ape ged” | wfte & -

(1) TE—IN

(2) TP I 918 ARFY ARMM 3w

(3) IRTHEE B B I

@ sifo—arey s/l Pt e TR F
kil

11 912 &) i gegell o ugare, ybe 9

U g § Slel BN SIB UEEM T ST
FR &1 o el & oNER, IE SRR
2

(1) SlivaiRs <fisar & araven

(2) USRIy

(3) ¥asl — U srRRn

(4) oo dfsar s

fermRur [uiies FrefeRaa # 9 T afte
Afafe /= 87

(1) =y fJges

() "M% e/ wm fees

(3 =e faew
@) SR F ¥ D T8l

ToEE o fha By § sl g 9w
Fqferiae w8l 81 bl o7

(1) e g8 99 ughy

(2) wFF o R

(3) arffar fafy

@ YTHiET R

SR & g REm T e @ e Rgi
8 _

(1) Unity of command (1) R B Thar
(2) Harmony not discord (2) G, 1 % cavE
(3) Order ; (3) =N
(4) Equity ? @)
05- Page 15 of 32
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68. Which
Organization?
(1) Sole Proprietorship
(2) Company
(3) Joint Hindu Family Business
(4) Partnership

69. ICT stands for -
(1) Information Classroom Teaching
(2) Information Communication
Technology
(3) Informative Computer Teaching
(4) Induced Computer Technology

70. Identify the correct pair -

(1) public company — Minimum 5
members

(2) private company — Minimum 2
members

(3) Partnership — Minimum 8 members

(4) Cooperative-society — Minimum 20
members,

71. The Principle of Maximum Social Advantage

is given by -

(1) Dalton

(2) J1.B.Say

(3) Chapman

(4) Findlay Shirras

72. Imprest system of petty cash book -

(1) is helpful for petty payments

(2) is helpful for small value payments
which are generally repetitive in nature

(3) (1)and (2) both

(4) is helpful for Managers

73. 'The system approach includes -
(1) Input, Process, Qutput and Feedback
(2) Process, Criteria, Input and Feedback
(3) Criteria, Input, Output and Feedback
(4) Process, Input, Output and Criteria

is the oldest form of Business

68.

69.

70.

71.

72.

73.
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ATTATRD GG bl UEad WHy B
8?

Q) voa wWifhE

(2 Ul .

(3) wgao fag uRar =edE /

@) RN

IS BT A9 § —

(1) SABHEIT FANT SIFET

(2) SIPERN HRIFDIT TFCS
(3) TohifeT duex AR

(4) - ” . E F s ?
T I B qgEY —

(1) \EAAE BIA — G 5 TEH

2) el Su — gHaH 2 9T

() WEER — AT 8 Gad

@) EPRI AR — =T 20 AE

atferaer ‘H.l“'lllr‘c)jcb am @ faEr B
EIREICCADES
(1) SlecT

@ w9 F
(3) AUHT
@ frrse BrRM

GaxT ABe 981 A AUSY YA ught —

(1) T EaFE § gees

Q) W oF I @ FIE 3 g S
Wm—mﬁaﬁmfﬁ

(3) )a (2)&F

4) udEm & g gERe

yoTTell SURH # afferd § —

(1) $Ye, i, smsceye SR wiayfe
() wipa, AFEs, $9C SR Uiy
(3) WSS, Y, €Ty Sk uiiyfie
4) wfERn, §Ye, SMeeye 3R AHEs
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4. Management Accounting is mainly related 74, WE Wi TEIT: T & —
with - -
(1) Projection for future () s & oy we
2) Cost ascertainment @) <rd fRerivor
(3.)\ Past and present events (3) V@PE T qhH AR |
(4) Quantitative information only @) Hael TRANTHE JATR
75. ‘The effect of the Deficit Financing is - 75. SRS USRI BT WG BRI B —
(1) Inflation 1) HI=1 TR
(2) Deflation @) WET e
(3) Reflation 3 HaI HEHI
(4) Stagflation @ Mg w9y
6. The rate at which the Reserve Bank of India 76, 5 &R W T P PR P ART Tl
gives loan to the Commercial Bank is called - El Wé?ﬂ 2 99 W P FEd § —
(1) Interest rate 0Y) a:nt;r ™
(2) Bank rate 2) o =
(3) Exchange rate 3) faFmg =
(4) Sales rate @ R{= e
77.  “Buyer Motives’ have their place or position 77 ‘ST UROTG’ AT I Y 8 -
between -
(1) Needs and Action (1) SraEErpaRl 3 BRI B W
(2) Desires and Action @) EEs 3R BRIAE &
(3) Zeal and Action (3) S AR FRAE B T
(4) Interest and Action @) <f AR e @ 5
78. A company is interested to redeem 5000 78. U HUH IO 5000 M 34 1008 ifda
preference shares of ¥ 100 each by issuing Hed e WEM PR diEdl § S9e oy
20,000 equity shares of T 10 each at a premium 20,000 TEROT ofF 10 Taed 2 Iwic 3
of T2 per share and remaining from its Mifem w FEiRT o @ Ay iy Suae
available free reserves, then amount to be g et ¥ e e T g, ar geh
transferred to “Capital Redemption Reserve” e dEEe feen A edraRd B
will be - SITe?
(1) Zero 6} BN
(2) ¥3,00,000 (2) 3,00,000%
(3) ¥5,00,000 (3) 5,00,000%
@) 2,60,000 4 2,60,000%
05- Page 17 of 32
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79. A project of ¥40,00,000 yielded annual profit 79,  40,00,000 T TF FoE 12.50%
of % 6,00,000 after depreciation @ 12.50% but sfeT B fg 50% & &) Q
before tax (which is 50%). Calculate pay — back B @ d a1l AR 6,00,000% e B
period. & | SRl SRy i B |
(1) 6.67 years @) 6.67af i
(2) 4years 2) 4ad
(3) 5yeas (3) S5qd
(4) 2.86 years 4 2869y
80. Which is not included in Outdoor advertising?  80. ¥ R ¥ w7 IWiver = g7
(1) Wall writing 1) <R @
(2) Posters and Hoardings (2) R T A
(3) Sandwich man advertising () vsfm A9 fasmus
(4) Display advertisement @) gusar fagmue
81. Income method is related with - 81. any fafYy & wwfRe & —
(1) National Income D g e
(2} Tax (2 o=
(3) Goods (3) ¥
(4) Bank @) d%
82. Find the probability that a leap year will have 82. e g 9§ 3 53 CHAR AT IFER BN &)
53 Fridays or Saturdays. TR S B9 |
@ > W 2
@ 2 @ 2
@ 2 @ 2
7 7
@ 2 @ ?
7 7
83. The average profits of a firm is ¥98,000. The 83. Uh B D T A 98,000 ¥ | 39 B
total assets of the firm are T 10,00,000. Value ol fel FERET 10,00,000 Ta7 &1 3y
of other Iiabilities is ¥ 5,00,000. Average rate TRl &1 Ted 5,00,0002 2 | T UPR &
of return in the same business is 14%. AR ¥ qEY YR &) e 14% 2 | si g
Determine the value of goodwill from ol & Yofiver Rty grT =y @ oI B
capitalization of average profits method - TOMET HF —
@) 7,00,000 (1) 7,00,000%
(2) ¥9,80,000 2) 9,80,0003
@) 2,00,000 (3 2,00,000%
4) T3,00,000 @ 3,00,000%
05- % Page 18 of 32
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\84. National Income includes -

84. =i ary ¥ wfierd & —
(1) Rent 1)y wmH
, (2) Wages () A
3 Profit @) o™
(4) All of the above @ SR T
85. MGNREGAisa- 85. W E —
(1) Housing Development Programme () s e BriBA
(2) Agricultural Development Programme @) <N e srisa
(3) Employment Guarantee Programme (3) SR TRE HRHH
(4) Industrial Development Programme @) oERe e BRIEH
86. Indicators of Mental Health includes — 86. TMRIG Wed b Hhadi A & —
(A) Emotional Balance (A) SCHIGE? et
(B)  Sense of Humour (B) W B AGT
(C) Intrinsic Motivation (C) iaRe ifRem
(D)  Extrinsic Motivation (D) o= 3Rl
(1) A,BandC 1) A,BIRC
(2) A,BandD (2) A,BIRD
(3) A,CandD (3) A,C3RD
4 B,CandD @ B,C3RD
87. Which element of teaching model refers to  87. o7 AT BT B AT 9 0T & Seedl
objective of teaching? ¥ gefdg 27
(1) Focus (1) g fdg
(2) Syntax (2) 91 I
(3) Social system (3) IS Yolel
(4) Support system 4) TEREE YTl
88. The factor which effects the economic 88. i TaEReT ®F wifaag B 9l UCh
environment is - g —
(1) Natural Resources 1) wHie HaEE
(2) Human Resources (2) w9 TEEA
(3) Social Institutions (3) mﬁ‘:‘—‘ﬁ W
4) All of the above @) SR G
89. The undesired and problem behaviour can be  89. aifesd AR EET FEOER P TAE WY |
modified effectively by using principle TRATS,  evverererecnerns & Rigia &1 SWN
of ceiiiinnn s T S W B
(1) Classical Conditioning () W a3
(2) Operant Conditioning (2) FopaIRE SrgSErT
(3) Trial and Error Learning @) W 3R Ffe afrmm
(4) Multidimensional Intelligence @) g gfgw
05- 3 Page 19 of 32
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90.  Who gave the Principle of “Span of Control”? ~ 90. "f¥Ei=r & favar” &1 Rigiq R k&7
(1) E.W. Taylor (1) UP. S, o
(2) Graicunas ) ﬁQWTH {
(3) Flippo (3) fpformy /
(4) GeorgeR. Terry @ oI a8
91.  ‘Which of the following is not a component of 91. 9% ¥ ‘wfe %Y P T T T °CH
“SWOT Analysis™? TE &
(1) Threats (1) <Hoc
(2) Strengths (2) wfdqai
(3) Weakness 3 wEARI
(4) Options @ o
92, ... development has three phases per- 92, ... e & 9 o= o - uReRe
conventional, conventional and post - TNIRS 3R ST — INIRS & Trﬁ}ﬂﬁﬁﬁb‘
conventional to distinguish between unethical SR A & dre afew B § 3Ix A T
and ethical and select ethical. W €| Fe
1) Social )
(2) Cognitive 2) W
(3) Physical (3 RIS
(4) Moral @ A
93. The Chairman of the District Consumer 93, Riel Suwigar G GRYE BT e BT
Protection Council is - g —
(1) District Judge 1)  forem
(2) Commissioner (2) sy
(3) District Collector & @) e BoreR
(4) High Court Judge @) = A b e
94. A and B are partners in a firm, theitf' capitalare 94, T IR F TF B F OEER § o9y L)
10,000 and ¥20,000 and undistributed 10,000 ¥ w4 20,000 T o <faRa wag
reserves < 10,000. They admitted C for %% 10,000 2| SN & & uta 3 ferg
share. C brought ¥ 20,000 as his capital. Find wae f&ary < 20,000 T aroeh ot & w9
the value of firms goodwill - ﬁmlﬁﬁwﬁfwaﬁqwm‘r—
(1) 80,000 (1) 80,0002
(2 20,000 : 2) 20,0003
(3> 40,000 (3) 40,0002
4) 60,000 @) 60,000%
05- =& Page 20 of 32 £
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Buying decision process starts with - 95. pa vy uftsar U B E —
(1) Need Recognition (1) STEEHaT $ e
(2) Evaluation of Alternatives @) R 31 geie |
(3) Information Search @) GEel @ | A
@ Both (2) and (3) @ ST QIR E) W
96. Self reliance campaign (Atmanirbbar Bharat 96.  STH[HY HIRG T FrfoRaa # 9 fog
Abhiyan) was launched in which of following T /98 # g% & o
month/year?
(1) May 2020 (1) #2020 <+ -
(2) June 2020 (2 v 2020
(3) July 2020 3 T 2020
() August 2020 @) SFTRT 2020
97. Which of the following is not a function of an ~ 97. =il # § S a1 STH B TF DR
enirepreneur? T8l 87 .
(1) Searching opportunities (1) SEER] B @l Fe
(2) Doing innovations () AR BT
(3) Not adopting changes (3) uRadsi o1 & SuEET
(4) Bearing risks (@) SREA SorT
98, The concept of Five Year Plans in the 98 Faadia AeT B HHedl MRAD iR
Constitution of India was borrowed from - # fpw 3w 0 e Y T A
(1) Russia @ =¥
(2) England @ s |
(3) United States of America &) '\q'gﬂﬂ TS ARG
4) Germany @ S
99, Which organisation was working -preceding  99. fy=ifoRaa § 9 o1F ] €76 [dwg @R
World Trade Organisation from followings? e HT Al a7
(1) General Agreement on Tariffs and (1 My 2N TR ) IER GESET
Trade (GATT i
2) Intem:tional 1\)/Ioneta1'y Fund (IMF) @ K o
(3) International Bank for Reconstruction 3 W ax fawrm & form
and Development (IBRD) IRIET b
(4) International Finance Corporation @) oS o
(XFC)
05- 3k Page 21 of 32
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100. On the basis of Economic Survey, India is 100. wRd aRjH i 9§, &9 e HEAHT
known as - &7 /
(1) Developed Country () i s /
(2) Developing Country @) i T !
(3) Under developed Country @ sfawa
(4) Highly Developed Country @ = Rl s o
101. A type of entrepreneur on the basis of nature - 101.  Usfy & IR TR I 6T UF THR —
(1) Fabian Entrepreneur (1) i SR
(2) Joint Sector Entrepréneur (2) \gF 8 SN
(3) Trading Entrepreneur (3) SUIRT IR
(4) Co-operative Entrepreneur @) TSN SEET
102. Sweat equity shares are issued by the 102. W $REA) 3ier o HUN GRT SR R TR
company- g -
(1) only to its Directors ; (1‘)i Hael S9d FATHASRT BY
(2) only to its employees 2) ad 9B FIARG] BY
(3) toits Directors and/or employees (3) D HUAID! qAT /A ARG B
(4) only to its shareholders 4) DI U ITERNRA} By
103.  When was Reserve Bank of India established? 103, Rerd 3% iiw $Rar 1 wmun @9 g o
) 1 April 1930 (1) 1 2ma 1930
(2) 1% April 1935 (2) 1 aiier 1935
(3) 1% April 1937 (3) 1 s 1937
(4 1% April 1938 @ 1 3 1938
104. A lecture delivered to school students by an  104. el BIE $T R8s gRT 2T TAT UREF
expert is known as - e & —
(1) Intrapersonal communication @ 3 TS
(2) Interpersonal communication 2) SR
(3) Mass communication (3) b T
(4) Non - verbal communication @) s wRiyT
105. The agreement between Partnership Firm is 105. WEER w4 & 4999 99219 &7 @& w@r
called ............. g -
(1) Partnership Contract 1) wEEN RREL)
(2) Partnership Act (2) wEER AR
(3) Partnership Deed (3) IEEN Hog
(4) Agreement 4) Gwsiar
05- 3 Page 22 of 32 i
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106. How can resistance to change be reduced? 106. TRadT TRRE B DY P4 e T |wHA
N 2
(1) Increase in workload %(1) PRYR ¥ 9F
(2) Overcontrol (2) <R FREEe
(3) Fear of financial loss 3) s ' &1 Wy
(4) Effective leadership @) wwEEmE g R
107. Who developed Jigsaw method of teaching? 107, f&ws g fommaf Reor agfa ®I [owiaa
fesar Tan? -
(1) Johnson - David & Roger Q) S - SRS ek AR
(2) Sharan and Sharan 2) O 3R A
(3) Elliot Aronson @) sfome amTad
@) Slavin @ e i
108. The Debt-Equity Ratio of acompany is 2:1,the  108. U@ HFAT DI W—W ‘ﬁﬁcﬂﬁ (Debt-
company is going to issue Bonus shares. After Equity Ratio) ?11 ], B A SRl B
issue of Bonus shares, the debt-equity ratio of e P I el él d siEl & ﬁ’f’:ﬁ
the company will - ® TR, FEAT B FOHA STA q -
(1) Increase ) Eﬁ; CUL '
(2) Decrease @ et !
(3) Information insufficient (3) A X
(4) Not alter @ @ gE w8 uSW
109. Which central tendency has been used to 109. TS @&l @ BT & ¥ T id ®R Tar
*  measure the average level of wisdom osf the FH $ R B § TR B vAR o
students in a class? ST 87
(1) Mean ) =
(2) Mode 2) &P
(3) Median (3) T
(4) Geometric mean . @) TOIR A
110. As per social audit assessment index report 110, wiwier 3iffse e seag Ruld 2020 %
2020, social audit is applicable to which of the IR, e AifSe Fefalea § 9 g
following scheme? o1 T A BT 87 ' '
(1) MGNREGS 1) TSR ESNTE. (MGNREGS)
(@) PMAY-G (2) HTETTESN. (PMAY-G)
(3) NSAP (3) TITATH (NSAP)
(4) All of the above @ SR Tl
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111, Which of the following is not an element of 111.
promotion mix?
(1) Branding
(2) Advertisement
(3) Sales Prometion '
(4) Personal selling
112. Interest-on-calls in arrear may be charged - 112.
(1) 10% per annum or the lesser rate
prescribed by the Board of Directors
(2) rate prescribed according to table F
only
(3) rate prescribed by the Board of
Directors only )
(4 No interest is éhargeld
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Google Play

/

/

PR # W P T e R prer
= 87

1) i

2 fasm=

(3) f¥pa dada

@ =i R i1

IEET G W A Gie [ PaT T G

g - \ .

D) 10% TiffF = § a1 Haes qved
R fRerifRa == & &9 &)

(2) @9 9RO U% g PeiRa v ¥

(3) DId THuIa® Aved ERT iRy &=
q

(4) PIE TS T IS I

113. In which sector, Disguised Unemployment can 113, 9Ra # fd ¢ Riormdt 5w &3 & wiE
be bbserved'in India? i &7 o
(1) Agriciltural sector O &
2) Industrial sector @ henfrs e
233) Banking sector 3 df
(4) Service sector @) &
114. Which, of -the following is another name of 114. 7= § § S\ w1 SyHIET o YADIP BT
consumer’s price index number? TN M 27
(1) Sensitive Index Number (1) HIETEe gasie ’
(2) Composite Index Number Q) 9T gEwiD
(3) Cost of Living Index Number (3) <fE Fale o gaeie
(4) Wholesale Price Index Number @) 9T I qEHIP ‘
115. What will happen if the rate of employee 115. HHERN MR B &« JDF S W H=M
turnover is high? h BRTT?
(1) Production will increase (1) SEsT 9o
(2) Cost will come down @) @FTT T
(3) Reduction'in training expenditures (3) uRwE ==t §
{4) Drop in employees morale @) TR wEEer F e
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HS6. ..............is the essence of management.
(1) Planning

(2) Direction

(3) Co-ordination

(4) . Organization

117. Choose the correct statement from the
T following —

Statement-1 All contracts are agreement but
S all agreements are not contract.
Statement-2 All agreements are contract but

ali contracts are not'agreement.

1

(1) Only statement 1 is correct
(2) Only statement 2 is correct
(3) Both statement are correct

5i; @
118. Direct material does not includes -

Statement 1 is-wrong:

(1) Primary packing material

(2) Specific material for specific product
(3) Material of nominal value

(4) Basic raw materials

1i9. The
analysing of data about problems relating to the

systematic gathering, recording and

marketing of goods and services are called
(1) Product Research
(2) Marketing Research
(3) Marketing Database
(@ Marketing Environment

120. How many principles of taxation are given by

117.

118.

119.

120.
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(@) TS

= 7 &l @ gy —

Fa—1 Wil e o879 B § ol
T SEUT e B & AfT
WY ST TERIG e B & |
(1) o9 FUF 1HET & ~
(2) Sao HUT 2WE B

@) eFR EEEaE
@4) FHUF 17 §

weger wFEN ¥ e T8 8 -
(0 e ST el

@ fiftrs sar & foy R ww
(3) TS oI @ WUl

@ T e Wl

£

T 2

(1) S SgEIE |

(2) fauor argeRm

() fRuvE e

teq R 3 IR & s Rigra iRy

Adam Smith? 0

‘ @ 6 P 6 )
2 5 2 5 HIR
Q) 4 3 4
@ 3 @ 3

05- % Page 25 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

7]

24

GET IT ON
Google Play

121. The definition of Acceptance is given in which 121. &y & TR WRAY ey srfefE,
Section of the Indian Contract Act, 18727 1872 1 vy ot # & g &2
(1) Section 2 (h) (1) 912 (h)
(2) Section 2{e) (2) =R 2(e)
(3) Section 2 (b) @) ERT 2(b)
(4) Section 2:() (4 ©RT 2 ()
Lok
122. The Chairman of the National Commission is 122. TS SIERT & arever &1 Fgf s gwr
appointed by - P SR 57
(1) the Président (1) Uy gR
(2) State (T-}overnment (2) U WBR ERT
(3) the Chief Justice of the Supreme (3) SEIEE S @ e
COlli't‘ ENRT
(4) Central Government , 4) DT WIPR ZRT
123. Who-propounded Trial and Error Learning? 123. W SR Fe IRmm s grr ufwieg
! foman e
(1) Skinner 1) Rer
(2) Thorndike ! (2) uriSE®
(3) Pavlov (@) e
(4) Wurddt @ T
124. The first step of control process is - 124. f===or ufthar &7 werg =T & —
(1) Appraisal of performance (1) BRI BT AT el
(2) Corrective action (2) QUIRF B
(3) Establishment of goals and standards (3) &gl v wuat @ fivor
(4) Determining the reason for deviation @) frEes & SR BT S BT
125. From following which is a Public Sector Bank? 125. /=1 ¥ & &9 wr wdaifie &5 a7 3o &7
(1) UTI @) FanE
(2) ICICI (2) ST,
(3) SBI (3) wadaE.
(4) AXIS ‘“ @ R
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136 “Management is the development of people, 126. W&t =féerai &1 famra g & awgell @1
not the direction of things.” This statement was fdem 1Y 98 oS foue gNr feum &
given by - ‘ 2?7
(1) Henri Fayol 1) 8 SO
. (2) Peter F. Drucker (2) Uies %, $HY
(3) Lawrence A. Appley (3) <R« T Ul
(4) F.W. Taylor @) TP S TN
127. Which statement is called as “100 percent” 127. W &I faawer w3 “100 wftrer” faaxor u=
statement? PEATAT &7
. (1) Balance sheet 1) fEr
(2) Common-size Balance sheet (2) TIFIER g
(3) Comparative Balance sheet ° (3) oD TRIET
(4) Comparative profit & loss account @) TereTs |AM—gl e
128. Which of these.is not a characteristics of sole 128, frifeiRas ¥ ¥ el i &) farera =&l
proprietorship? ' 8?7
(1) Quick decision ! @ g feig
(2) Limited liability 2) g sifis
(3) Independent existence @) @ IRaE
129. Cash flow statement is - 129. s R & -
(1) Future financial forecasting technique @ wrd fxhy gatgas 9 aeile
(2) Related to forecast temporary cash (2) ereml BT TSP aRI BT S
requirements o O g
(3) Technique of analysis of past (3) YaeEH fzoiyor @) TFE
(4) Related to shown financial pattern @) e e FaN ¥ SR
130. Which law of learning states that if connection 130, ¥r& &1 & w1 fgd oo &, & Il
between stimulus and response is accompanied s iR giifhar & §= ey ar—gqﬂ 7]
by a satisfy state its strength of connection is TR BT 2, af e & ed 98 W) 87
increased? ‘ . 1) aeRar B
(1) Lawof Readlfless @) s w1 frem
(2) Law of Exercise
(3) Law of Disuse (3) ! a1
@) Law of Effect @ e P
131. Which of the following agencies is responsible  131. =1 # & B9 4 Ta= IRG H eI
for formulating the Fiscal Policy in Tndia? Ay 1 Fyfor Tl &7
(1) Securities and Exchange Board of ' _
India 1) WD ey &k R 9
(2) Reserve Bank of India 2) Rod o i e
(3) Ministry of Finance, Govt of India . ‘
(4) National Bank for Agriculture and (3) WRT WPR PI {40 e
Rural Development @ v B SR wrier Rem 45
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132. Gross Working Capital represents - 132, 9Fd BRI ol wfaffe o=l & ~
(1) Total Assets (1) T FgARY
(2) Total Current Assets (2) @l T FHRT
(3) Total Current Liabilities (3 gAY =il
(4) Excess of Current Assets over Current @) = wRRE @7 e Sl W)
Liabilities ity
133. For calculation of cash flow from operating 133. URere™ Bramil ¥ JFs Yars & ToMT F
activities which of the following item will be T ol = 4 ¥ 59 w8 @ gem
deducted? ST ‘
(1) Increase in inventory 1) T & ]
(2) Decrease in inventory 2) T H o4 -
(3) Increase in trade payables @) =WRE I § gy
(4 Decrease in‘accrued income @ ST s o =
134. Which agency calculates National Income ‘of 134, HRT &% TN AT FT APAT B gl
India? Tl B A 27
(1) Reserve Bank of India 4 1w~ Red
(2) Planning Commission (2) IS AERT
(3) Ministry of Finance @) 99 #are™
(4) Central Statistical Organisation @) D= Tikme! d@reT
135. Which type of development has relatively high 135. f&9 worR @& Rorg IAgaRBar @1
influence of heredity? e ST T BT 87
(1) Social 1) e
(2) Cognitive (2) YHIFIS
(3) Physical 3) INRE
4) Moral @ =i
136. Economic Development can be measured by - 136, 3nRfe &A%/ AMT o7 GoaT & —
(1) Real National Product (1) Talds T SaE ¥
(2) Death Rate 2 TG
(3) Population Rate. (3) TFHEI SR 9
{4) Education Level, @4 BEdwRY
137. A Banking co; desires to redeem 5000, 137. Us ST &. oY 5000, 10% d1er 39T U5
10% Debentures of ¥ 1000 each at par cost e 10003 3ifPd Teu & Sumer uai
available sufficient divisible profits. In this o™ O i e e aEd) =4
case, how much amount should be transferred 59 9RReIfY 3 fhaelt aifl¥r = v e
to Debentures redemption reserve account, as o @R H GRT 71 (4) BT NTEIHar ITHY
per requirement under Section 71 (4). SEITIRT & SIgEh?
(1) %50,00,000 (1) 50,00,000%
(2) %7,50,000 @ 7,50,000%
(3 X12,50,000 (3) 12,50,0002
@) Zero @ T
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138.

139.

140.

141.

An entrepréneur who does not want to adopt

any kind of innovation is called —

(1) Innovative Entrepreneur
(2) Imitative Entreprencur
(3) Fabian Entrepreneur
(4) Drone Entrepreneur
“The Demand for anything at a given price is

the amount of it, which will be bought per unit

of time at that price.™

Above definition of Demand is given by -
(1) Benham
(2) Mill
(3) Penson
(4) Bober

A and B are partners sharing profits in the ratio
of 3:2. They admitted C. A surrenders 1/5 of his
share, B surrenders 2/5 of his share in favour of

C. What will be the sacrifice ratio?

a1 21

2) 12

3 34

4 3:2

Operating cycle period is equal to -

(1) Material Storage*Period

(2) Conversion Period

(3) Conversion Period + Debtors
Collection Period — Creditors
Payment Period

(4) Material Storage Period + Conversion
Period + Finished Goods Storage
Period + Debtors Collection Period —

Creditors Payment-Period

138.

139.

140.

141.

T o o Y ¥eR @1 SarER |6
UM AT, BEAT & —

(1) "TAURIS S

@) srgevEhe Ser

(3) e SER

4) e SEE

el § g8 oFm W RN 9ga o i
THS I8 AT B, O 96 oMd WA
g {9y R e SRR | )

ART &Y SR aRemET € g o —

(1 d78F . R
@ f= .

3 =T

[¥)

@ dfw W

T g 4 32% Igua H§ @M gied g
TEER € BN W B g9 ) "E'ﬁ
o Rl BT 1/5 SR TR R @ A
TR R @7 2/5 A BT Tt R | @
S T E?

@ 2

(2 1:2

(3) 34

@ 32

gRerer dsh A & RET & —

(1) Gl e eElE

(2) TURRYT e .

3 FTRRYT Srafey -+ SR WIET srafy

(4) Al HUET A + HUTOROT e
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142, An ideal Teaching Learning Material should 142. T® a3l frmr aifderg grnft 2 =iy —

143.

144.

145.

146.

be -
(A)
(B)
©
D)

Interesting
Informative
Rigid

Accurate

@
@

A,BandC
A BandD
(3) B,CandD
4 A,CandD
Contingent contractis ..................
(1) Iilegal
(2) Voidable
(3) Legal
“ Void

Which of the following is an example of
Indirect selling expenses?
ey
2
3)
@

Out of the following, which is not a wasting

Salary of Sales Manager
Catalogues and price lists
Carriage outward

Material used for packing of a product

assets?
(1) Oil wells
(2) Gold mines
(3) Copyright for five years
(4) Land
Which vicious circle has defined by Ragnar
Nurkse?
oy
)]
3)
“)

Vicious circle of poverty
Vicious circle of population
Vicious circle of unemployment
Vicious circle of illiteracy

143.

144.

145.

i46.

(A) wfrget
(B) T
(C) ®aR
O W

A, BaIRC

A,B3RD

3) B,Cc3RkD

4 A,C3"D
HARTE STgEy BT & —

(1) arder

(2) =g

3)

@) @

it # O S 1 sy g =g &
UH SE[EN 87

(1) g Yewes &1 Ja+

(2 g o T 7w it

(@) ES TE ST

@) S F1 ST § yga wrEEl
fFe=ifa 5 | B a1 4 TRy F7 SeeNer
&l 87

(1) 9P B

(2) <@l @~

3) u" o % oy ufoRmaRer

@

VAR 959 T B Y §Tam Bl 9o
o7

(1) & BT gEEE,

(2) SITEET BT GTAE

() RISERI T geas

(4) STRMET FT g¥AD

ey
(2)
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147. Tn which product / service, composite costing 147. faf3a @irTa fafey, S<ure @1 s~ aFTT S
is useful to calculate final cost of a product — ? % forg fpw Sre / war By SRR
(1) Printing press (W gaoer
(2) Hotel @ e
(3) Motor car @) AR TR
(4) Road construction @) W
148. In which of following year, the proposal to set- 148, fr=iforiaa # @ {9 99, ARG WOR ENT
up National Recruitment Agency was approved T Wit Todl P WUl B YA @Y
by Government of India? . Aot € e 201?
a1 2020 (1) 2020
2y 2021 - @) 2021
3) 2022 3) 2022
4 2019 4) 2019
149. When special techniques has been introduced 149, w9 <l fafire G&iie &1 Sera wrf A
in production work in a unit, people of that 7T B 9% AT SRISIR 8 Wi g1 =9
industry became unemployed. This type of B WIS Fad &°
unemployment is called -
(1) Structural unemployment (D) TS ST
(2) Disguised unemployment ‘ @) " T
(3) Cyclical unemployment (3) THIE ISR
(4) Technological unemployment @) HEfreE SRS
150. Which of the following is not the objective of 150. Fwifisa % & P W sfdperor Seza «7él 87
audit? Q) <&@ ¢ sk Kig R & o
(1) To know true and fair view of financial T
position 2 W T IdT ST
(2) To detect errors (3) UE BT YT I
(3) To detect fraud e smRE B R
(4) To act as Consultant to the Directors ; ORI J—
and Shareholders
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